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Example 6. Find some polls on the web which publish
their sample size and margin of error, and determine with
what certainty the number being measured is within that
margin or error.
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A large poll conducted in 2001 showed that 39% of
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So Hyis “p=1py", and H, is “p > py". In English: Our
“null hypothesis” is that 39% of people now support
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4. Conclusion: If only 39% of people now support universal
health care, then the probability of getting 50% in favor
of universal health care by taking a random sample of
400 people would be only .00000324.

This is strong evidence that H is false, and that more
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total population which have had an STI? (Note: half of
the top ten most frequently reported diseases in the U.S.,
accounting for over four-fifths of all cases, are STl'’s).

Example 8. /n a certain population, we expect 46% of
the population to get a cold in a 3 month period. We
give 264 volunteers 1000 mgs of vitamin C per day for 3

months. At the end of the period 119 people (45%) have
gotten colds. So the proportion of our sample that have
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